SCHEDULE OF BID PRICES

Item No.	Qty	Unit	Description	Unit Price in Figures	Unit Price Extended
1.	1	LS	Mobilization, complete in place for the lump sum price	\$2,500.00	\$ 2500,00
2.	1	LS	Traffic Control System, complete in place for the lump sum price	\$ 5,000.00	\$5,000.00
3.	650	LF	Remove and Replace Concrete Curb and Gutter, complete in place for the unit price per lineal foot	\$ 55.00	\$ 35.750.0
4.	2,800	SF	Remove and Replace Concrete Sidewalk, complete in place for the unit price per Square Feet	\$15,00	\$ 35,750.0° \$42,000.00
5.	100	SF	Remove and Replace Concrete Curb Ramp with Detectable Domes "Case A", complete in place for the unit price per Square feet	\$ 15,00	\$ / 800.00
6.	3,000	SF	Remove and Replace Concrete Curb Ramp with Detectable Domes "Case C", complete in place for the unit price per Square feet	\$ 15.00	\$ 45.000-
7.	200	SF	Install Type B Passageway Per Caltrans STD A88B, complete in place per Square feet	\$50.00	\$10000-
			TOTAL BASE BID :	\$ 142,05	O. 00

TOTAL BID PRICE \$/42,050.00

TOTAL BID PRICE One hundred and forty two thousand and fifty dollars
(Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1.		none	
2.	=	4	
3.		9	
4.			
5.			
6.			
7.			
8.			
9.			
10.			
11.			
12.			
13.			
14.			
15.			

END LIST OF SUBCONTRACTORS

Title: Curb Ramps Improvements in Antioch, CA (P.W. 409-4)

SCHEDULE OF BID PRICES

Item No.	Qty	Uniț	Description	Unit Price in Figures	Unit Price Extended
1.	1	LS	Mobilization, complete in place for the lump sum price	\$ 7880. ⁵⁰	\$ 7880,50
2.	1	LS	Traffic Control System, complete in place for the lump sum price	\$ 12,000.00	\$ 12,000.00
3.	650	LF	Remove and Replace Concrete Curb and Gutter, complete in place for the unit price per lineal foot	\$ 60.25	\$ 39,162.50
4.	2,800	SF	Remove and Replace Concrete Sidewalk, complete in place for the unit price per Square Feet	\$ 11.25	\$ 31,500.00
5,	100	SF	Remove and Replace Concrete Curb Ramp with Detectable Domes "Case A", complete in place for the unit price per Square feet	\$ 20.36	\$ 2036.00
6.	3,000	SF	Remove and Replace Concrete Curb Ramp with Detectable Domes "Case C", complete in place for the unit price per Square feet	\$ 15.45	\$ 46,350.°
7.	200	SF	Install Type B Passageway Per Caltrans STD A88B, complete in place per Square feet	\$ 20.35	\$ 4070.00
			TOTAL BASE BID :	\$ 142,90	79.00

TOTAL BID PRICE \$ 142,999.00

TOTAL BID PRICE:	one	honde	ed 4	0174	Two	Thousand	nine	hundred
11 above 92 90 1.2= 15	(Written	in Words)	ninety	nine	. on	14		

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

JJR Construction, Inc.
Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. None			
2.			
3,			
4.			
5.			
6.			7
7.			
8.			
9.			
10.			
11.			
12.			
13.		,	
14.		25	
15.	17		T .

END LIST OF SUBCONTRACTORS

Title: Curb Ramps Improvements in Antioch, CA (P.W. 409-4)

SCHEDULE OF BID PRICES

Item No.	Qty	Unit	Description	Unit Price in Figures	Unit Price Extended
1.	1	LS	Mobilization, complete in place for the lump sum price	\$ 500	\$ 500
2.	1	LS	Traffic Control System, complete in place for the lump sum price	500	\$ 500
3.	650	LF	Remove and Replace Concrete Curb and Gutter, complete in place for the unit price per lineal foot	\$ 42.	\$ 27,300
4.	2,800	SF	Remove and Replace Concrete Sidewalk, complete in place for the unit price per Square Feet	\$ 12.	\$ 33,600
5,	100	SF	Remove and Replace Concrete Curb Ramp with Detectable Domes "Case A", complete in place for the unit price per Square feet	\$ 14.5	\$ 14,500
6.	3,000	SF	Remove and Replace Concrete Curb Ramp with Detectable Domes "Case C", complete in place for the unit price per Square feet	\$ 16.	\$ 48,000
7.	200	SF	Install Type B Passageway Per Caltrans STD A88B, complete in place per Square feet	\$ 14.5	\$ 29,000
	190 2		TOTAL BASE BID :	§ 153,4	

TOTAL BID PRICE	\$	153,400	
-----------------	----	---------	--

TOTAL BID PRICE: one hundred fity three thousand & four hundred dollars No Cents

(Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Mach Access
Signature of Bidder

Anchor concrete Cont. Inc.
Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAM	E OF SUBCONTRACTOR	LICENSE NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1.	None			
2.				
3.	5			
4.	50 5 50 5' U	•	н	
5.			~	
6.	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			
7.	iu 1			
8.		***		
9.				
10.				
11.				
12.		8		
13.				
14.				
15.				

END LIST OF SUBCONTRACTORS